Efficiency vs Dxy(PV)

0.2

(PV)

=0.18|
©0.16
>
20.14]
T
'50.12
0.1
0.08|
0.06

dx

eff

0.04
0.02
O

1

Ratio

0.9

0.

-25-20-15-10 -5

TR A n R R
0

5 10 15 20 25
TP dxy(PV) (cm)

[ Efficiend]

—=— DQM_TT__mkFit-DQM_original
—— /data2/legianni/standalone-May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_mod_up

—=— DQM_TT__mkFit-DQM_update-mod127

1.2

N

0.8]

efficiency vs dxy(PV)

0.6}

Ratio
[
3

Efficiency vs Dz(PV)

1.

efficiency vs dz(PV)

Ratio

| I P ——heaees
ok 0 IR -
0'2-— ---------- . hJ: ------------ L

[ i i ; i i

i

-20 -10 0 10 20 30
TP dz(PV) (cm)

.OF

0.5 1
TP dz(PV) (cm)

Hatedmod-127



	Contents
	Page 1


